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PART - III

AÆæÿ¦Ô>çÜˆ… / ECONOMICS

(™ðþË$Væü$ Ðèþ$ÇÄæý$$ C…XÏ‹Ù ¿êÚë…™èþÆæÿÐèþ$$Ë$ / Telugu & English Versions)

çÜÐèþ$Äæý$Ðèþ$$ : 3 Væü…rË$ ] [ VæüÇçÙx Ðèþ*Ææÿ$PË$ : 200
Time Allowed : 3 Hours ] [ Maximum Marks : 200

çÜ* è̂þ è̄þ : (1) Ðèþ$${§æþ×ý çÜÐèþÅ™èþMðüO {ç³Ôèý²ç³{™é°² „æü$×ý~…V> ç³ÇÖÍ… è̂þ…yìþ. çÜÐèþÅ™èþ ÌZí³…_ è̄þ ç³„æüÐèþ$$ÌZ
B ÑçÙÄæý*°² Ððþ…r¯óþ àÌŒý çÜ*ç³ÆŠÿÐðþOfÆæÿ$Mæü$ ™ðþÍÄæý$gôýÄæý$…yìþ.

(2) Æ>Äæý$yé°Mìü Ðèþ$ÇÄæý$$ A…yæþÆŠÿÌñýO¯Œþ ^óþÄæý$yé°Mìü ±Ë… Ìôý§é ¯èþË$ç³# Ææÿ…Væü$ íÜÆ>
Ðèþ*{™èþÐóþ$ Eç³Äñý*W…^èþ…yìþ. _{™èþç³sêËMæü$ ò³°ÞÌŒý Eç³Äñý*W…^èþ…yìþ.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

uÛ≤>∑+ - A / PART - A

>∑eTìø£ : nìï Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç.

Note : Answer all the questions.

I. Ç∫Ãq Hê\T>∑T Á|ü‘ê´e÷ïj·÷\ qT+∫ ‘·–q düe÷<ÛëHêìï m+#·Tø=q+&ç eT]j·TT dü¬s’q Ä|ü̧Hé

ø√&éqT eT]j·TT dü+ã+~Û‘· düe÷<ÛëHêìï sêj·T+&ç.

Choose the most suitable answer from the given four alternatives and write the option

code and the corresponding answer.

14x1=14
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1. dü+|ü<ä ìs¡«#·q+ s¡#·sTT‘· :

(a) kÕeT÷´˝ŸdüHé (b) Ä˝ŸÁô|ò&é e÷s¡¸˝Ÿ

(c) Ä&ÉyéT dæà‘Y (d) *jÓTTHÓ̋ Ÿ sê_Hé‡
The author of wealth definition is :

(a) Samuelson (b) Alfred Marshall

(c) Adam Smith (d) Lionel Robbins

2. ¬s&é fÒ|æ»+ eT]j·TT n$˙‹ BìøÏ <ë] rkÕÔsTT :

(a) ñ‘êŒ<äq ndüeTs¡ú‘· (b) Ä<ëj·T+ eT]j·TT dü+|ü<ä jÓTTø£ÿ ndüe÷q‘·

(c) kÕ+πø‹ø£‘· Ò̋ø£b˛e&É+ (d) eqs¡T\ jÓTTø£ÿ kÕeTs¡ú́ |üP]‘· $ìjÓ÷>∑+
Red tapism and corruption lead to :

(a) Inefficiency of production (b) Inequality of income and wealth

(c) Absence of technology (d) Efficient use of resources

3. @ø£ edüTÔ $ìjÓ÷>∑ $<Ûëq+ :

(a) Ábı&Éø£åHé bÕõ_*{° ø£sY« (b) düyÓ÷bÕ+‘· Á|üjÓ÷»q dü÷Á‘·+

(c) düs¡|òüsê dü÷Á‘·+ (d) ø°åD√bÕ+‘· Á|üjÓ÷»q dü÷Á‘·+

Single commodity consumption mode is :

(a) Production possibility curve (b) Law of equimarginal utility

(c) Law of supply (d) Law of diminishing marginal utility

4. ˇø£ edüTÔe⁄≈£î &çe÷+&é Bìô|’ Ä<Ûës¡|ü&ç ñ+≥T+~ :

(a) Ä edüTÔe⁄ jÓTTø£ÿ <Ûäs¡ (b) dü+ã+~Û‘· edüTÔe⁄\ <Ûäs¡

(c) Ä<ëj·T+ (d) ô|’e˙ï
Demand for a commodity depends on :

(a) Price of that commodity (b) Price of related goods

(c) Income (d) All the above
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5. <Ûäs¡˝À e÷s¡TŒq≈£î &çe÷+&é jÓTTø£ÿ düŒ+<äq &çÁ^ :

(a) &çe÷+&é jÓTTø£ÿ Ä<ëj·T dæú‹kÕú|üø£‘·

(b) Áø±dt ` m˝≤dæºdæ{° Ä|òt &çe÷+&é

(c) &çe÷+&é jÓTTø£ÿ <Ûäs¡ dæú‹kÕú|üø£‘·

(d) ô|’e˙ï
The degree of response of demand to change in price is :

(a) Income elasticity of demand

(b) Cross-elasticity of demand

(c) Price elasticity of demand

(d) All the above

6. <Ûäs¡ $X‚¢wüD˝À ø±\+ n+XÊìï Á|üy˚X̄ô|{Ïº+~ :

(a) C….ÄsY. Væ≤ø̆‡ (b) C….m+. ø°HÓdt

(c) Ä˝ŸÁô|ò&é e÷s¡¸˝Ÿ (d) C….mdt. $T˝Ÿ
The time element in price analysis was introduced by :

(a) J.R. Hicks (b) J.M. Keynes

(c) Alfred Marshall (d) J.S. Mill

7. uÛÑ÷$T jÓTTø£ÿ Äs¡+uÛÑ düs¡|òüsê <Ûäs¡ :

(a) düTHêï (b) ˇø£{Ï ø£+fÒ m≈£îÿe

(c) ˇø£{Ï ø£+fÒ ‘·≈£îÿe (d) ˇø£{ÏøÏ düe÷q+
The initial supply price of land is :

(a) Zero (b) Greater than one

(c) Less than one (d) Equal to one

8. <̊ìï uÛ≤–+#·&É+ <ë«sê dü>∑≥T #·s¡ e´j·÷ìï bı+<äT‘ê+ :
(a) TC/Q (b) TFC/Q

(c) TVC/Q (d) ÇẙM ø±e⁄
Average variable cost is obtained by dividing :

(a) TC/Q (b) TFC/Q

(c) TVC/Q (d) None
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9. |ü]|üPs¡í b˛{°̋ À &çe÷+&é eÁø£‘· :

(a) }s¡ú«eTTK yê\T (b) düe÷+‘·s¡+

(c) n<Û√eTTK yê\T (d) ì\Te⁄

Under perfect competition, the demand curve is :

(a) upward sloping (b) horizontal

(c) downward sloping (d) vertical

10. ø±]àø£‘·≈£î &çe÷+&é :

(a) mô|òøÏºyé &çe÷+&é (b) Á|ü‘·´ø£å &çe÷+&é

(c) &ç¬s’yé&é &çe÷+&é (d) m˝≤dæºø̆ &çe÷+&é

The demand for labour is :

(a) effective demand (b) direct demand

(c) derived demand (d) elastic demand

11. Bì ñìøÏì ø±¢dæø£̋ Ÿ ~∏j·TØ }Væ≤düTÔ+~ :

(a) ìs¡T<√´–‘· (b) Á|ü#·Ã¤qï ìs¡T<√´–‘·

(c) dü+|üPs¡í ñ<√´–‘· (d) n\Œ ñ<√´–‘·

The classical theory assumed the existence of :

(a) Unemployment (b) Disguised unemployment

(c) Full employment (d) Under-employment

12. Ä<ë≈£î dü+ã+~Û+∫q ñbÕ+‘· Á|üeè‹Ô nq>± :

(a)
S

Y

∆

∆
(b)

C

Y

∆

∆
(c)

P

Q

∆

∆
(d)

C

Y

The marginal propensity to save is :

(a)
S

Y

∆

∆
(b)

C

Y

∆

∆
(c)

P

Q

∆

∆
(d)

C

Y
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13. Á<äy√´\“D düeTj·T+˝À :

(a) yê´bÕs¡T\T ˝≤uÛÑ|ü&ÉT‘ês¡T (b) ẙ‘·Hê\T bı+<̊yês¡T ˝≤uÛÑ|ü&ÉT‘ês¡T

(c) J‘ê\T bı+<̊yês¡T ˝≤uÛÑ|ü&ÉT‘ês¡T (d) n<Ó›\T #Ó*¢+#̊yês¡T ˝≤uÛÑ|ü&ÉT‘ês¡T
During inflation :

(a) businessmen gain (b) wage earners gain

(c) salaried people gain (d) rentiers gain

14. |üqTï Ä<ëj·T+ BìøÏ dü+ã+~Û+∫+~ :

(a) |ò”E\T (b) |üqTï\ s¡ø±\T

(c) ¬syÓq÷´ (d) |üqTïjT̊‘·s¡ ¬syÓq÷´
Tax revenue deals with the :

(a) fees (b) kinds of taxes

(c) revenue (d) non-tax revenue

II. ‘·–q düe÷<Ûëq+‘√ U≤∞\T uÛÑØÔ #̊j·T+&ç. 12x1=12

Fill in the blanks with suitable answers.

15. ñ‘·Œ‹Ô nH˚~ __________ jÓTTø£ÿ düèwæºøÏ dü+ã+~Û+∫+~.
Production refers to the creation of __________.

16. ô|≥Tºã&ç<ëØ $<Ûëq+ jÓTTø£ÿ n‘·´~Ûø£ Ä]úø£ ø±s¡´ø£˝≤bÕ\T   __________ πø+Á~‘·+>±
kÕ>∑T‘êsTT.
Most of the economic activities of capitalism are centered on __________.

17. ø√]ø£\T   __________ eT]j·TT __________¬s+&É÷ ø±e#·TÃ.
Wants may be both __________ and __________.

18. e´øÏÔ>∑‘· $ìjÓ÷>∑<ës¡T\ ôw&É÷´˝Ÿ CÀ&ç+|ü⁄  __________.
Adding up of individual consumers schedule is __________.

19. __________ nH̊~ düs¡|òüsêqT ìπs›•+#̊ yê{Ï̋ À Á|üeTTKyÓTÆ+~.
__________ is the major determinant of Supply.
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20. __________  nH˚$ Ç‘·s¡ edüTÔe⁄\qT ñ‘·Œ‹Ô #̊ùd+<äT≈£î $ìjÓ÷–+#̊ e÷qe ì]à‘· uÛÖ‹ø£
edüTÔe⁄\T.

__________ is man-made physical goods used to produce other goods.

21. __________ ˝À e÷Á‘·y˚T dæús¡ eT]j·TT #·s¡ n+XÊ\ eT<Ûä´ ‘˚&Ü #·÷|ü&É+ kÕ<Ûä´eTe⁄‘·T+~.

The distinction between the fixed and variable factors is possible only in
__________.

22. ù|f…+{Ÿ Vü≤≈£îÿ <ë«sê >∑T‘êÔ~Û|ü‘·́ + kÕ~Û+#·&Üìï   __________ nì n+{≤s¡T.

Monopoly power achieved through patent right is called __________.

23. ñbÕ+‘· ñ‘êŒ<äø£‘·  dü÷Á‘·+ (e÷]®q˝Ÿ Ábı&ÉøÏº${° ~∏j·TØ) nH˚~  __________  b˛{°
ñ+≥T+<äH ̊uÛ≤eqô|’ Ä<Ûës¡|ü&ç+~.

Marginal Productivity Theory is based on the assumption of __________
competition.

24. __________ Á|ü»\ jÓTTø£ÿ q>∑<äT ì\«\qT dü÷∫düTÔ+~.

__________ refers to the cash holdings of the people.

25. edüTÔe⁄\≈£î ã<äT\T>± edüTÔe⁄\qT Á|ü‘·́ ø£å+>± e÷s¡TÃø√e&Üìï    __________ >± e´eVü≤]kÕÔs¡T.

The direct exchange of goods for goods is known as __________.

26. __________ |üqTï nH̊~ |ü⁄s√>±$T |üqTï eT]j·TT nqTbÕ‘· |üqTï\ $T[‘·+.

__________ tax is a blend of progressive tax and proportional tax.
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III. ~>∑Te yê{Ïì »‘·|üs¡#·+&ç : 12x1=12

27. dü+|ü<ä (a) yÓuŸ …̋Hé mô|òø̆º

28. e÷¬sÿ{Ÿ X̄≈£îÔ\T (b) Ábıô|òdüsY düÿyéT|”≥sY

29. >∑]wü˜ kÕe÷õø£ Á|üjÓ÷»q+ (c) C+I+G+(X−M)

30. <Ûäs¡ eT]j·TT &çe÷+&é jÓTTø£ÿ (d) eÁ»+
kÕqT≈£L\ dü+ã+<Ûä+

31. Bs¡Èø±*ø£ düs¡|òüsê πsK (e) |üqTï πs≥T ‘·>∑Z&É+

32. m+Á≥Áô|qT´j·TsY, ÇH√ïẙ≥sY (f) ø±¢sYÿ

33. dü>∑≥T e´j·T+ (g) kÕºø˘

34. <äøÏåD≤Á|òæø± (h) j·T÷ì{Ÿ e´j·T+

35. ÁbÕ|òæ{Ÿ jÓTTø£ÿ &Ó’q$Tø̆ ~∏j·TØ (i) &ÉãT“ jÓTTø£ÿ ø=qT>√\T X̄øÏÔ

36. yÓTT‘·Ô+ &çe÷+&é (j) Væ≤ø̆‡ n+&é &Ü\ºHé

37. &ÉãT“ jÓTTø£ÿ $\Te (k) n~Ûø£ m˝≤dæºø̆

38. ‹s√>±$T |üqTï (l) düs¡|òüsê, &çe÷+&é eT]j·TT <Ûäs¡
Match the following :

27. Wealth (a) Veblen effect

28. Market forces (b) Prof. Schumpeter

29. Maximum Social Advantage (c) C+I+G+(X−M)

30. Positive relationship of (d) diamond
price and demand

31. Long period supply curve (e) Tax rate decreases

32. Entrepreneur, an innovator (f) Clark

33. Average cost (g) Stock

34. South Africa (h) Cost per unit

35. Dynamic theory of profit (i) Purchasing power of money

36. Aggregate demand (j) Hicks and Dalton

37. Value of money (k) More elastic

38. Regressive tax (l) Supply, demand and price
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IV. ~>∑Te Á|üX̄ï\≈£î ˇø£{Ï ˝Ò<ë ¬s+&ÉT |ü<ë˝À¢ düe÷<Ûëq+ Çe«+&ç. 12x1=12

Answer each of the following questions in a word or two.

39. Ä]úø£ XÊÁkÕÔì (mø£Hê$Tø̆‡)øÏ eTs√ ù|s¡T @$T{Ï ?
What is the other name for Economics ?

40. |ü]$T‹øÏ $T+∫q ñ‘êŒ<äq (zesY Ábı&Éø£åHé) |òü*‘·ẙT+{Ï ?
What is the result of over-production ?

41. ñ<ëd”q eÁø£πsK nq>±H̊$T ?
What is Indifference Curve ?

42. ø±]à≈£î\≈£î &çe÷+&é ndæú‹kÕú|üø£+>± (ÇHém˝≤dæºø̆) ñqï|ü⁄Œ&ÉT, @<̊ì ø±]àø£ dü+|òüT+ J‘ê\T
ô|+#·>∑\<ë ?
When the demand for labour is inelastic, can a trade union raise wages ?

43. dæús¡ ÇHé|ü⁄{Ÿ≈£î @<̊ì ñ<ëVü≤s¡D Çe«+&ç.
Give an example for fixed input.

44. Ábı&É÷´düsY‡ düeT‘êdæú‹øÏ ñ+&Ü*‡q |ü]dæú‘·T\T @$T{Ï ?
Give the condition for producers equilibrium.

45. mq«\|t ø£sY« nq>±H$̊T ?
What is an envelope curve ?

46. >∑T‘êÔ~Û|ü‘·́  b˛{° jÓTTø£ÿ ‘·|üŒìdü] \ø£åD+ @$T{Ï ?
What is the essential feature of monopolistic competition ?

47. n–jÓ÷ ~∏j·TØ Ä|òt Ç+Áf…dtº s¡#·sTT‘· mes¡T ?
Who is the author of Agio theory of Interest ?

48. ªª»qs¡̋ Ÿ ~∏j·TØ Ä|òt m+bÕ¢sTTyÓT+{Ÿ, Ç+Áf…dtº n+&é eT˙µµ s¡#·sTT‘· mes¡T ?
Who is the author of “General Theory of Employment, Interest and Money” ?
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49. ˇø£ <̊X̄+˝À Á<äe´ düs¡|òüsêqT ìj·T+Á‹+#̊ u≤´+ø̆ ù|πs$T{Ï ?
Name the bank which controls money supply in a country.

50. |ü_¢ø̆ &Ó{Ÿ n+fÒ @$T{Ï ?
What is Public debt ?

uÛ≤>∑+ - B  / PART - B

V. >∑eTìø£ : (i) ~>∑Te yê{Ï̋ À @ẙì |ü~ Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç. 10x3=30

(ii) Á|ür Á|üX̄ï≈£î düe÷<Ûëq+ Hê\T>∑T ˝Ò<ë ◊<äT |ü+≈£îÔ\≈£î $T+∫ ñ+&Ü*.
Note : (i) Answer any ten of the following questions.

(ii) Answer for each question should be about four or five lines.

51. Ä]úø£XÊÁdüÔ+, >∑DÏ‘·+ eT]j·TT >∑D≤+ø£ XÊÁdüÔ+ eT<Ûä́  dü+ã+<Ûëìï $e]+#·+&ç.
Describe the relationship between Economics, Mathematics and Statistics.

52. eTTK´yÓTÆq kÕ<Ûës¡D Ä]úø£ e´edüú\qT ‘Ó*j·TCÒj·T+&ç.
Name the important general economic systems.

53. neø±X̄ e´j·T+ (Ä|üs¡TÃì{° ø±dtº) n+fÒ @$T{Ï ?
What is Opportunity Cost ?

54. edüTÔe⁄\ eØZø£s¡D≤˝Ò$ ?
What are the classifications of goods ?

55. &çe÷+&é πsK m+<äT≈£î øÏ+~øÏ yê* ñ+≥T+~ ?
Why does the demand curve slope downwards ?

56. düeT‘êdæú‹ (áøÏ«*Á_j·T+) <Ûäs¡ n+fÒ @~ ?
What is equilibrium price ?
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57. dü«\Œø±*ø£+, Bs¡Èø±*ø£+ eT<Ûä´ ‘˚&Ü˝Ò$T{Ï ?

Differentiate the short period from the long period.

58. |üì $uÛÑ»q n+fÒ @$T{Ï ?

What is meant by division of labour ?

59. eT÷\<Ûäq s¡÷bÕ Ò̋$ ?

What are the forms of capital ?

60. m+dæ eT]j·TT mdæ eT<Ûä́  dü+ã+<Ûëìï ‘Ó*j·TCÒj·T+&ç.

Mention the relationship between MC and AC.

61. mø£Hê$Tø̆ e´j·÷\T n+fÒ @$ ?

What are economic costs ?

62. yêdüÔe ẙ‘·Hê\T (]j·T˝Ÿ ẙC…dt) eT]j·TT Á<äe´s¡÷|ü ẙ‘·Hê\T (eT˙ ẙC…dt) eT<Ûä́  ‘&̊Ü Ò̋$T{Ï ?

Distinguish between real wages and money wages.

63. *øÏ«&ç{° Á|æ|òü¬sHé‡ dü÷Á‘·+ jÓTTø£ÿ eT÷&ÉT ñ<˚›XÊ˝Ò$T{Ï ?

What are the three motives of Liquidity Preference Theory ?

64. kÕº>¥ù|ò¢wüHé n+fÒ @$T{Ï ?

What is stagflation ?

65. |üqTï $~Û+|ü⁄ ñ|üø£s¡D≤\T (e÷sêZ\T) @$ ?

What are the canons of taxation ?
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uÛ≤>∑+ - C /PART - C

VI. >∑eTìø£ : (i) ~>∑Te yê{Ï̋ À @y˚ì Ä]+{Ïø Ï düe÷<ÛëHê*e«+&ç. 6x10=60

(ii) Á|ür Á|üX̄ï≈£î ˇø£ ù|JøÏ $T+∫ düe÷<Ûëq+ Çe«+&ç.
Note : (i) Answer any six of the following questions.

(ii) Answer for each question should be about a page.

66. $TÁX̄eT Ä]úø£ e´edüú jÓTTø£ÿ >∑TD>∑D≤ Ò̋$T{Ï ?
What are the merits and demerits of a mixed economy ?

67. düs¡|òüsê˝À e÷s¡TŒ (wæ|òtº)qT &Éj·÷Á>±yéT‘√ $e]+#·+&ç.
Explain the shift in supply with diagram.

68. m+Á≥Áô|qT´j·TsY jÓTTø£ÿ $<ÛäT Ò̋$T{Ï ?
What are the functions of entrepreneur ?

69. dü«\Œø±\ dü>∑≥T e´j·TπsK\qT $e]+#·+&ç.
Explain the short run average cost curves.

70. ‘·>∑T ñ<ëVü≤s¡D‘√ ñbÕ+‘· e´j·÷ìï $e]+#·+&ç.
Explain Marginal cost with suitable illustration.

71. |ü]|üPs¡í b˛{° jÓTTø£ÿ $•wüº‘·\qT $e]+#·+&ç.
Explain the features of perfect competition.

72. ùddt ˝≤ ô|’ $eTs¡Ù Ò̋$T{Ï ? (@ẙì |ü~)
What are the criticisms of Say’s Law ? [any ten]

73. Ä<ëj·T+ >±≈£î+&Ü, $ìjÓ÷>±ìï ìπs›•+#̊ Ç‘·s¡ n+XÊ Ò̋$ ?
What are the determinants of consumption other than income ?

74. ã&Ó®{ŸqT ìs¡«∫+#·+&ç .  düeT‘·T\´ eT]j·TT ndüeT‘·T\´ ã&Ó®{Ÿ\qT $e]+#·+&ç.
Define Budget.  Explain the balanced and unbalanced budget.

75. Á|ü‘·́ ø£å eT]j·TT |üs√ø£å |üqTï\ eT<Ûä́  ‘&̊Ü Ò̋$T{Ï ?
Differentiate between the direct and indirect taxes.
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uÛ≤>∑+ - D /PART - D

VII. >∑eTìø£ : (i) ~>∑Te Á|üX̄ï˝À¢ @yì̊ eT÷&ç+{ÏøÏ düe÷<Ûëq$Te«+&ç. 3x20=60

(ii) Á|ür Á|üX̄ï≈£î düe÷<Ûëq+ eT÷&ÉT ù|J\≈£î $T+∫ ñ+&Ü*.
Note : (i) Answer any three of the following questions.

(ii) Answer for each question should be about three pages.

76. Ä]úø£ XÊÁdüÔ dü«uÛ≤e+ eT]j·TT |ü]~Ûì >∑T]+∫ #·]Ã+#·+&ç.
Discuss the nature and scope of economics.

77. ñ<ëd”q eÁø£πsK |ü≥+ n+fÒ @$T{Ï ?  ñ<ëd”q eÁø£πsK \ø£åD≤\qT ∫Á‘·|ü{≤\ kÕj·T+‘√
$e]+#·+&ç.
What is indifference curve map ?  Explain the properties of indifference curve
with diagrams.

78. &çe÷+&é jÓTTø£ÿ <Ûäs¡ dæú‹kÕú|üø£‘·qT >∑DÏ+#̊ $<ÛëHê\ >∑T]+∫ $e]+#·+&ç.
Explain the methods of measurement of price elasticity of demand in detail.

79. >∑T‘êÔ~Û|ü‘·´+ øÏ+<ä <Ûäs¡ eT]j·TT ñ‘·Œ‹Ô ìπs›XÊìï $e]+#·+&ç.
Explain the price and output determination under monopoly.

80. n<Ó› >∑T]+∫ ]ø±]¶j·THé dæ<ë∆+‘êìï |üØøÏå+#·+&ç.
Examine Ricardian Theory of Rent.

81. Á<äe´ $<ÛäT\qT e]í+#·+&ç.
Describe the functions of money.
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